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11.1. ¥ +y% =2, 11.2. x* +y* =y, x2 4+ 3% =ay,
z=5/4-x2 --0. z=«’x2+y2. z=0.

113. x* + 32 = 8.3y, 114 x2 + y? +4x =0,
2=x2+y2-64, z=0 (z20). z=8-y?, z=0.

2
ILS. x* + y? = 6x, x% 4+ y? =0x 11.6. x2 + v =62y,
z=x2 432,220,y =0(y<0). z=x2+y>-36,2=0(z20).

b 11.7. x2 + 2 =2y, 11.8.x% + y* =2y,x> + y* =5y,
!' z=9/4—-x% z=0. z=\1x2+y2. z-=0.
11.9. x> +y*+2J2y =0, 11.10. x* + y? =4x,
z=x>+y*-4, z=0 (z20). z=10-y%, z=0.

11.11.x% + y2 = 7x, x? + 2 =10x, 11.12. x? 4 y? =82y,
z=\/x2+y2,z=0.y=0(y50). z=x24+y>—64, z=0 (z20).

11.13.x% + y? =2y, 11.14. %2 + y? =3y, x% + y* =6y,
2=l3/4—x2. z=10. z=\’x2+y2, z=0.

x2 + 2 =6v2x. 11.16. x% + y* =22y,
2-36, z=0 (z220). z=x*+y*-4,z2=0(z20).
= 11.18.x% + 2 =8x,x% + y* =11x,

z=\}x2+y2, z=0, y=0(y<0).

4%/5::, 11.20.x° + y2 =4y,
2 z=0.

=16, z=0 (z20). z=4-x
yi=4y, x’+y2 =Ty 11.22.x% + y* =442y,
2 =0. - z=x'2+y2-1-6,z=0(220).
11.24.x° +y2 =9x,x2 + y* =12x,
z=\}x2+y2, z=0, y=0(y=0).
; 11.26. x> + > =4y,

z20). z=6-x2,2=0.
13x,  1128.x% +y? =242x,
> 0). z=x*+y* —-4,2=0(z20).

11.30.x% + y2 =5y, x> + y* =8y,

z=\‘x2+y2,z=0.
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